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LABJINDu6
tristimulus value difference
Yoc=L*w - nc=100,
T*LaBINDU6=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDUs=IN(A 1n+A20)/(A2uhon) - (X=YTYy)
AY=Agn(A1r+AznY)=Aon(A1n+AzX), See CIE 230:2019
dYgg=0,35, Ay,=0,6666, A,=0,1044, ¢=1,00
dY;=0,08, A=0,017, A,=0,0058
dY3¢=0,02 Y,=18, dY=0,08 2
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log (AY/Y) LABJINDuU6
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,
T*LaBINDU6=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDus=IN(A 10+ A20)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1n A2 Y)Y=Agn(A 1t A X) Y
(dY/Y}5=0,0039, A,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g=0,0044, A =0,017, A,=0,0058
(dY/Y} 60,0070 Y,=18, dY=0,08
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tristimulus value contrast
YoerL*w - ne=100,
T*LaBINDU6=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,c)
T*LaBINDus=IN(A 10+ A20)/(A2uhon) - (X=YTYy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

log (Y/AY)
C,=(Y/AY)

T*,=748 dY,=0,08 Y,/dY, 222
log(Y/dY)=2,34 m=0,13 =" -
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LABJNDuG relative triangle lightness T*/T*,
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T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 10+ A2) (A2 Pon)  (X=YTYy)
T*N(3,6)=329,T*(18)=748,T*,(90)=1164

T*og/T*=1,55, Ay=0,6666, A,=0,1044, ¢=1,00
T*19/T*,=1,00, A =0,017, A=0,0058
T3 gT*,=0,43,T%=747 51 \~18
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LABJNDU6 relative
tristimulus value difference
Yoc=L*w - -nc=100,
T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 10+ A2) (Ao Pon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYo/dY,=4,43, Ay=0,6666, A,~0,1044, ¢=1,00
dYg/dY,=1,00, A =0,017, A4,=0,0058
dYs ¢ddY,=0,31 Y,=18 dY=0,08

T*,=748 dY,=0,08 dY_/Y,=0, (‘JI‘ 7 A

log(AY/AY,)
AYIAY,

log [(AY/Y) I (AYIY)] LABJINDUG relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 10+ A2) (Ao Pon)  (X=YTYy)
AYYY@YIYV)=[A 1+ A2X) Xl (A 1+ Agy)
(dY/Ybg/(dY/Y,=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
(@Y/Yyg(dY/Y)=s 20, Aln— 017, Ag =0,0058
(@YY g(dY/Y)=1

log[(dY/Y(dY/Y),]=0, m/=-0, 13 3
T*,=748 dY,=0,08 dY,/Y,=0,0044
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log [(Y/AY) I (YIAY),] LABJINDUG6 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*LABINDUG=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUG=IN(A 1A (A2 Pon)  (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08
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